	
[bookmark: OLE_LINK144][bookmark: OLE_LINK145]3GPP TSG-RAN WG4 Meeting #110                                                                                         R4-2400040
Athens, GR, February 26 – March 01, 2024

Source: 	CATT
Title: 	Further discussion on co-existence study for above 10GHz bands
Agenda item:	8.18.2
[bookmark: _GoBack]Document for:	Approval
1. Introduction
In RAN4#109 meeting, a WF [1] for NTN co-existence study was agreed, some remaining issues in WF need further discussion.
This contribution provides our views on the remaining issues for NTN co-existence study for above 10GHz bands.
2. Discussion
Updated co-existence simulation result
The co-existence simulation result for case 2 has been updated, see excel [2]. The updated ACIR curves of case 2 for fixed VSAT are shown as following.
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Figure 2-2: Case 2 Aggressor TN UL to Victim NTN UL (GEO, LEO-1200, LEO-600)
Based on above updated simulation result for case 2, the required ACIR for SAN ACS for GEO, LEO-1200 and LEO-600 are 16.64, 12.8, and 12dB, respectively. The ACIR at 5% throughput loss of the updated simulation result for case 2 is more in line with the average ACIR for case 2 in WF in RAN4#109.
Observation 1: The ACIR at 5% throughput loss of the updated simulation result for case 2 is more in line with  average ACIR for case 2 in WF in RAN4#109.

VSAT ACS
As per the WF [1], the remaining open issue concerning VSAT ACS is shown as below:
	For VSAT ACS: 
· Considering below candidate values as starting point for VSAT ACS
· Option 1: 23 dBc
· Option 2: 30 dBc
· Option 3: 35 dBc
· FFS for the additional means to address the co-existence issue, candidate options for further discussion 
· Option 1: Limit the elevation angles on DL side for VSAT UE 
· Option 2: Configure additional guard-band 
· Option 3: Consider different channel model (e.g. UMa instead of free space loss) between VSAT UE and TN BS.
· Other options not precluded 


In WF [1], based on collected results till RAN4#109, ACIR for GEO and ACIR for LEO for VSAT ACS in WF are [39.2] and [42.9], respectively. So we think that 35dBc ACS is closer to ACIR for VSAT ACS, and can meet the Ka-band NTN co-existence scenarios where NTN UEs are randomly dropped in TN clusters. So we prefer to option 3 (35dBc)
Proposal 1: Adopt option 3(35dBc) for VSAT ACS.
For the additional means to address the co-existence issue, the option 1and option 3 may require an additional round of co-existence simulation to verify the effect. However, for option 2, guard band has always proven to be a helpful approach in solving the coexistence issues (it can reduce adjacent frequency interference to achieve co-existence). We think that Option 2 can be as additional mean to address the co-existence issue.
Observation 2: Option 2 might be helpful to address the co-existence issue.

3. Conclusion
This contribution discussed VSAT ACS for above 10GHz bands. The following proposal and observation are provided as follows:
Observation 1: The ACIR at 5% throughput loss of the updated simulation result for case 2 is more in line with  average ACIR for case 2 in WF in RAN4#109.
Proposal 1: Adopt option 3(35dBc) for VSAT ACS.
Observation 2: Option 2 might be helpful to address the co-existence issue.
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LEO-600-Case 2(Aggressor TN UL to Victim NTN UL)
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GEO-Case 2(Aggressor TN UL to Victim NTN UL)
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